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TEST - 9TH CIVICS (UNIT 1, 2, 4)
(BASED ON SCHOOL BOOK)

Consider the following statements

1. Indian council act 1892 introduced the concept of indirect election for the
first time.

2. Direct elections was held for first time in 1920 under British India as per
Montague Chelmsford Reforms Act.

Correct statement is

a. One only b. two only

c. Both one and two d. None of the above

LNeTQU(HLD SnBmIBeneT SLUIH

. (WpHe (PpHeded LBLPSSH BCHTHe0 (pewpwiTend 1892 @hHul H6|6Fle0H6
FULID cpevld DIBI(PSLILGSHSLILIL L Sl

2. Uil ey @phaHwralsd TwIGL G OFwedBUTTH &TH([HHBMIGET FLLID CLP6VLD
1920-60 (WHeil (WHeoTsd Cryyg GCHTeHe0SH6NT HenL GILIBBeT.

a.1 @B b.2 B c.1 wmpb 2 d. gsieflsvenev
Consider the following Statements and choose correct option

I. In India, Prime Minister is Head of State.

II. Government refers to executive functions of state.

a. I only is true b. IT only is true

c. Both I and II are true d. None is correct

Heieumbd gmppiseiev Fllwnerensdd CHTHOSH 6.
L. BhHuwraled, LIH0WC) I SHEDELAITTEUTT

[I. spsmsd aaiLE DTFeT CFUID HIMBLI LIGNNHMeT 266N &5 UIHTESHLID
a.l ' @G &f b.II w' @Gw &
c. I wmmpp 1T & d. eme|evensv

Consider the following statements.

1. VVPAT was made indispensable by Supreme Court Judgement in
Subramanya Swamy vs Election Commission of India case.

2. VVPAT was introduced all over country in sixteenth Lok Sabha elections

(2014)
Correct statements are
a. One only b. Two only
c. Both One and Two d. None of the above
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LNeiTeU(HLD SnBBISENeNS H(HHIH:

1. sudyoeniw seums adT @bHw CxHTmed ewemiu aupddled VVPAT oengi
SHTHS (PQUITH DIDFIOTS 2 _FFhIHIoes HTdled o mig CFuiliul (Beitengl.

2. 16 ougl ndsemaldh BpiTmevdmer (2014) 0 VVPAT geng @bswm

(WWMWEHGSGD HIBPSUILGSHSLILILL ).
gllwmen SnMBmIH6TT6eM60T

a.1 (B b.2 L @B
Cc. 1 w@mmib 2 wl BId d. GBIl aHia|blevemev

Consider the following statements.
1. Election commission can register and deregister a political party.
2. Party recognised as a state party in four states is recognised as a national

Party.
Correct statements are
a. One only b. Two only
c. Both One and Two d. None of the above

LNeiTeU(HLD SnBBISENeNS H(HHIS.

l. @ opfwed sl dwneig GCHTHL QPmeWIWLHBHTD LHe| (D) bHHSD
GauwIwIILIL 60MLD.

2. 4 1OTHleVmIGET60 LOTHeVS SLFAUTS DIRSHTID CUBDBIGTET @H &L WIS
Cxrflwsd s Fwnes mSHNSSILGLD

a. 1w B b. 2 w1 Bb C. ®yewi(BHLd d. gasedevensv

Consider following statement

Assertion (A): Leader of opposition plays a significant role to play in Indian
Parliamentary System.

Reason (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

LNeITaU(HLD SnBBIBENeNS H(HHIH:

&Bm (A) :  @bHw  umgrEpss  (wpempuled  HTHEBL S Hemeveu
USNWITRISH (PSBWLILRIEG B SHBSI.

as1yeoid (R): Qe QUTHIS SHeuidbGHd GHUaNET HmeLaITHAD WLHH U alHlIL]
SLEMEUTULILD  OBMILD  HHU  HBEUD  LEMEIILISH  HevevalTHmend CHiey
QFuILTTHAD 2 6ITeTIT.

a. (A) wiew &M, (R) seaum

b. (A) wBp (R) sf wopid (R) eewugs (A) er sflwmer elendsongd

c. (A) wippd> (R) soum)

d. (A) wppd (R) s suemed (R) eeiiugy gflwmer alendasiosen
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Choose correct statements
I. First general elections to Loksabha was held between 1950 and 1951.
II. ~ 26% January is celebrated as Both voters day and Republic day in

country.
III.  India holds indirect elections also.
a. I and II are correct b. II and III are correct
c. IT only d. Il only

gllwren sBoiIsenen CaiTey OFUlIs.

L. 1950 ommid 1951 &@E @Luled WHEHEMMaIDHE (PHeUTalHl OLITHIS
BxTHe0&6I  HemL GlLBMeT.

II. BT Iged Metaufl 26 S GQUITdH Heolld OBBID  QITHSTENT  HGIDTHSD

CaTewiLmLLILBSBSI.
III. @baHwur wopwssdh CHTHOHMEMUD BL SHHIBBSH.
a.l wppid II sflwmerene b. II w@pid I sfwrerensu
c. I w @b d. I w @w

Which of the following are characteristics of Indian democracy?
L. Universal Adult Franchise.

II.  People Exercise Decision making power directly.

III.  Absence of Discrimination on certain grounds.

IV. Independence of Judiciary

a. I only b. I, III, IV only

c. Il and III only d. All the above
LTedTau(hHeueToUBmIOT @bHSHUl MebTWLSSHH 6 DIDFRIGH6T 616n6u?
I suigy aubBsHT aumdh@Hiflemin

II. wohser GHIQuITe (PQROMIBHHGSGID DHBTTHHE0 2 6ITerTelT
III. v @I L aleustymiseaied UTGUTIQEETMD HleVa M.
IV. pgldaiempule &gbsiyn

a.l o’ @ b. LIII, IV w1 @b

c. IT wmmip III wr G d. omearsHsId

Consider the following statements and choose correct ones.

L Democracy is derived from Greek words DEMOS meaning people and
CRATIA meaning power.

II.  Democracy means head of state is elected.

III.  Republic was coined in Rome, From Latin word ‘res publica’ meaning
public matter.

IV. Republic denotes doctrine of popular sovereignty where people
posses decision making power.

a.Iand Il only b. Il and IV only

c.Iand III only d. Il and IV only
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Neiteu(pd gnmmiseriled gflwnerensdd CHiHoHM:

L. DEMOS - wéaser oppid CRATIA — oi@smyb eerl QUIT(HEHemL U
&CBrs® AUMTHemSHH6M60(HHS) D&M &) eTEDILD CFTeLEVTEIIHI
GaxTHOHBHHBLILIL L F|.

II. waésammfuled odler HemevaugmeareuT CaHThHOSHBHBHUILBGSBTT.

[II. Guurs @b GFTeveomergk Grmb BT ealgalmsSILI L . "Res
Publica" eignib evdhdesr QombF GQFmevedes GUTHeTTaIE GLTEHI eleudTyiD
GTGILIBHTGLD.

IV. ouurs eaaiug wésseflld o wWrdHamypeTen DenWLILTGD &kIE LDdEH6N
WWYOBEGID DHBTTHH M6 OFUIGOLIHSH SIS SIBEOTT.

a.l wpm II w' @b b. Il opmid IV o1 Bid

cl wBpd I w Hb d. I wpmid IV wl Go

Consider the following statements

Assertion (A): India has indirect democracy.

Reason (R): People exercise decision making power indirectly through

elected representatives.

a. (A) alone is correct (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct and (R) is not correct explanation of (A)

LNITQU(HLD FnBBIHEN6NTS H(HDHIH.

F&BB (A) : @bFHWTaled MBS WHHNT.d Hlevea s Bl

asryewid (R):  w&H&6T HES6ET DIHIMTHMS LOBWHLOTS  CHTHOHHSHSLILIL L
Uy FHBSlae cpsuld OFwIeOLIBSHSHIF GTB60TT.

a. (A) wiew &M, R) seupl

b. (A) wspd (R) &f, (R) eeiug (A)er gflwmer alendsomgLd

c. (A) wppd (R) e

d. (A) wspd (R) &f wspd (R) eswg (A sfiwmer alemdasosos

The parliament house in India was designed by

a. Le Corbusier and Albert Mayer

b. Edwin Lutyens and Herbert Baker

c. Matthew Nowicki and Thomas Munro

d. Ludwig Mies and Frank Wright.

@hHUI LUTTTEHLOSIB DIENEUWITEISH] WITTTED 6UIQEUMLDSSBLILIL LS.
a. &5 &MTuedwiT 1oBmiId LeoLlyl. GuowiT

b. e aler e lguiesierd OBEID QamTum GusT

c. wrswel Gourald oB@ID SHTwed weT@pm

d. e els erd wBmIDd LgmHis ey
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Consider the following statements and choose correct options.

L Members of Loksabha are indirectly elected.

II.  Members of Rajyasabha are elected by Electoral College consisting
elected members of legislative assemblies of states.

a. I only is correct b. IT only

c. BothTand II d. None of the above

LNeitau(pd nmmideriled Fllwnearensdd CHTHOHM:

1. wésenemer 2 WIS MBWHLTHS CHTHOHBHSL LB BT

2. OTHev FL L aSIBRIG6TeT CHTHOHBHHBILLL 2 BIlanmseT S misw CsHiTeyd
G cpevld Jregwl Fevll 2 miliilerTaeT GHiTh0\%H B &S UILIH S GTB6IT.

a.lw @G &M b. IT o B

c. Loppd II @yewi®Bid d. egededensv

Kudavolai system was followed by

a. Cheras b. Cholas c. Pandyas d. Pallavas
&L Baumenev  (LpenmWITEIS] 60 LaummLiLl L gl
a. Gayiiapeit b. @zmpieseir C. UITeuNQUITE6IT d. wedevEUTHGIT

In democracy final authority rests with

a. Parliament b. People

c. Council of ministers d. President
&HHeNT.Fulled BmIFH DIHSTTLOTEIH BL b 2 eileng)
a. UMJT@eThLOGIIMBLD b. e

C. DIMDFFTHEMGT DjeHel d. memaug)

Consider the following

Assertion (A) : India has Parliamentary form of democracy.

Reason (R) : Indian Parliament comprise two houses.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A)istrue (R) is false

d. (A) is false and (R) is true

LeiTaupeuaieuBens oiuls

BB (A) : @hFHwmaled LTITEHLOGIE LHHMTL S (LEDBUTEIHI [HleveSBS.
sryenid (R): @pbHul LUmymemnoaiBoTeisl G, Simalbanennd CdTeniBHeTengl.
a. (A) wppd (R) s Coeid (R) eteiiug (A) —eir allensbasLon@Ld

b. (A) wspd (R) sflwrereney Guosud (R) etaiiugl (A)eir allemdaosvs0
c. (A)sfl R) saum
d. (A) seum wspw (R) sfwmerg
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Consider the following statements.

1. Meaning of Franchise denotes right to elect.

2. Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only

c. Both One and Two d. None of the above
LNITU(HLD SnBBIHENENTS H(HHIH.

1. aurs@Memin eraiiug CHitey GaFLIINLBD 2 Mepwamuld GHBlEH MBS
2. awgl abBahTT autd@flend FUL FHIHMHMSB 2 (HoUTHGHHMSH
SHUBTR FmBuIBHmeNsd BCHTs.

a. 1 w @G b. 2 w' Bw

c. 1 oBpd 2 Byewi(h d. eme|fevensn

The President of India can nominate.

1. Two Anglo Indian to Lok Sabha.

2. Twelve Anglo Indians to Lok Sabha.

3. Twelve Anglo Indians to Rajyasabha.

4. Twelve members to Rajyasabha.

Choose correct statements.

a. One only b. Three and Four only
c. One and Two only d. One and Four only
AhHw MemHugHuimed Buwblessibeaugl

1. &Henemaushd 2 DHISE0T EHHUITHEN

2. 1D&HeNTemaUSE 12 HmISGCeor @b UITEH6N

3. gTRW Feous@ 12 mESGeor BhaWITHen

4. gTOW FeMUHEG 12 2 mINITelTaseN

a.1l w’ @ b.3 w@Bmid 4 w’ Hid
c.1 wBmib 2 wl B d.1 wBpid 4 1wl G

is one of five basic principles of democracy in India.

a. Communism b. Communalism

c. Secularism d. Illiteracy

OhHU QETBTLSHHET 5 DYliLmL & CBTeTendH6MNe0 el
a. QuUTHIea ML LD b. augliyeumsId

C. W FFTieTento d. eipHanieieento

Electoral college of President consists of

L. elected members of both houses of Parliament

II.  elected members of state legislative assemblies and union territories.

III. nominated members of both houses of Parliament.

IV. Nominated members of state legislative assemblies and union
territories.

a.l and III only b.Iland IIonly c.LII, Illonly d.All the above
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GLWISHS Hmevaumid BGHTe] CFUILD eUTHSTENT G (LDEUTEIH

L. uTgTEeboaB &M Siemeuuler Caitey OFuwwiul’ L o miniernrsel
II. e &lLweamd () welwer UrCssmselsar Gxiey GauiwiiilL
o mIIenTHel

III.  ummenwsas &mm Semeluile muiwer o mililerTaer

IV. wmpev gl Lwaimd (1) ujefwer LgCahgmiseier muloer o mililerse
a. lwpmpwp III wrGo b, Twngd 1T wl G

c. I II, III o (Bb d. smearsHHib

Consider the following statements

Assertion (A) : Pressure groups originated in USA and are different from

Political Parties.

Reason (R) : They do not try to capture political power or contest election.

a. Both (A) and (R) are true and R is correct explanation

b. Both (A) and (R) are true and R is not correct explanation

c. Aistrue, Ris false.

d. A is false, R is true.

LNeiTeU(HLD SnBBISENeNS H(HHIS.

aBE  (A): opfwed sl dsalleldBhd DRSHHS GUWSH6T (S6WidbsTaled
Goxpmemiweney) GeumiLIhaleser.

smyenid (R): oimeusel opdlwsd oiHsmsmss aaliuBpGaur (o) GxTsHeds

Gum’igui_Geum  (Lpem6aT6L &606M6V.

a. (A) wppd (R) sf Guetd (R) eteiiugy afluimer eflendsaiomgLd

b. (A) wBpid (R) &fl Guwsud (R) ereiiuigy Fflwmer afemdasiosdso

c. (A s R) saupreng

d. (A) seum, (R) sfilwmerg)

Election Commission is a

I. Independent Body II. Permanent Body

I1I. Statutory Body IV. Constitutional Body

Choose correct statement

a.lonly b.ITandIIonly c.I Il and III only d.I, IIand IV only

BHTHeL HLEMEMTUILOTEIHI 6(h

[. &agbaT SIEmOUTEGLD II. Wemeowimesr SieMLOLILITELD

III. s’ Lyfeu gemwriungd IV, opduevemoliier Liguimer Sienolilm@L
a. Lo’ (B b. 1 wpmid I o Hbd

c. [, Hwmmd III w @b d.L II wppw IV w Gb

Which is not function of political party?
a. Parties conduct election.

b. Parties put forward policies

c. Parties contest election

d. Parties shape public opinion
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SIFwed s Fulledr LiewlweLeTSHH 61517

a. &L d®61 BaTHemev [BL GRS BIBE.

b. & fselr CBTETMBBENGT (LPEITEN6LH ) GHTN360T.

c. sldlmen Bxitgpeded Gumipuibalaimer.

d. sldlasel QUTEHIS HHGHHMS 6UIQEUMLDSHS GTBEIT.

State parties are also known as

a. Indian parties b. Provincial Parties
c. Regional Parties d. National Parties
LOTHI6VS &L F el eTeimID  SIMIWIILBESeT360T.
a. @phHw s Hser b. wrsmem &L doel
c. gmhAwr &L debelt d. G &I Hser

What are merits of direct elections.

a. Itis less expensive

b. It is more suited to larger countries.

c. It ensures lower violence and corruption.

d. It makes representative more accountable to people.

Gmrrgdh BxTmHevderes FMLILEH6T WiTeneu?

Bmal GmBHH CFeve L LI

WsLOufw BTHHEHHE LHSOID 6JBLEDL U6l

GMBHD DIETATGOTET GUGIT(LPNMBHET LOBBILD D6MLPEOSH6IT

. ID&BEHHG DIHS GUTBIILDLMWD uTUIhHS S LITHHHHmen aUpmIGBement (of)
&HHEHHG WHaD Fhwmer Slenalevmer LIJHIHSHeemen 6L 61360,

an o

Which of the following is not one of three components of political party?
a. Leader b. Active Member

c. Follower d. Electoral Funding

LNeitau(heoteuBmieT SIFFluied S Fullet 3 FmmISEHeT QETHI DIeLEVTHH 61517

a. HEMELAIT b. Gswed 2 _minie

C. QFHmeuTLT d. Gxizmed HFH euemBMID

Match the following committee and recommendation

A. Balwant Rai Mehta (1957) 1. 3 tier Panchayat Raj

B. Ashok Mehta (1977) 2. Concept of “grass without roots’

C. GVK Rao (1985) 3. 73rd and 74t Constitutional
Amendment Act

D. LM Singhvi (1986) 4.2 tier Panchayat and involvement of
political Parties

an oo
el
> W N o
W NN WA
N W R
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QUITHSHHISH:
A. usbeupbggmul Gug st (1957) 1. 3 9IbdE& UEhFTLSSH JTey

B. ©Bsms GugHam (1977) 2. "Couymm UBseT” (Lpenm

C. GVK gmeu (1985) 3. 73 ioBmib  74eumk  SpFuieveniolig
HHHHF FLLBIS6I

D. eev.enb. friel (1986) 4. 2 9bsG UehITWSHSH (ID) SFFuied

& Fpefer URIGHMBL

A B C D
a. 1 2 3 4
b. 1 3 2 4
C. 1 4 2 3
d 1 4 3 2

Consider the following statements.

I. Lord Ripon is considered as father of local self government in country.

II. Panchayat Raj system was introduced in Nagaur district of Rajasthan on
October 2, 1959

Choose correct statements.

a. I only b.IIonly c. BothIandII d. None of above
LNITQU(HLD FnBBIHENeTS  H(HHIH.

[. e o eitenm & Sewwliseien Hhewswins Mliuer Ly SmHSLILIGSMBTT.
II. osCLmur 2, 1959-60 JTEQerOHTeN6N BHIGLLT LOTaI L HEH6L LEhFTUISHSH JTed

(POBWTHIHI DIBILPSLILIL SSHUILIL LS.
gflwrenr FBoIBemend GTey CFUIS

a.l @b b.II w' G c. I wpgd I Syesidnd d. egleylsveneo

Only local government that can levy taxer under 3 tier panchayat.

a. village panchayat b. zila parishad

c. panchayat samiti d. Anchal samiti

wWaIBhHG UehaFTwHH  (pemuler &b GG  aufl  alFHldb@
DIHBMHMBL CLIBMBIGTETS).

a. dgmp  eenym & b. 2feveor ufa9s

C. UhaTwdHa FO) d. sehaed F10H

Which of the following is not a tax levied and collected by village panchayat?
a. property tax b. professional tax

c. house tax d. stamp duty

LeiTau(HaleTaUBMIOT &SIFTD  2ayrl Fuimed al&HeSULLTS OBBID  IGISSLILLTSH
aufl e15H1?

a. Qarshg eufl b. Qxmfed eurfl

c. el ® eufl d. wsHHewyshsmen el
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Which of the following is not type of urban local body?

a. Town panchayat b. zila parishad

c. municipality d. corporation

LeiTau(hHeoTeuBmIeT HBT 2 6iTenTl & emolILleT 6UmEBUIOOTHSH 61517
a. BB UehFTWHG) b. 2eveor uUfags

C. B&JT.& d. sy f

Which of following is not a characteristic feature of parliamentary form of
government?

a. Harmony Between Legislature and Executive

b. Responsible Government

c. Stable Government

d. Majority Party Rule

LTedT6u(HeUGTOUMBMIGT LITTTEHLOGIB (LPeDB DITFTRISSHH G DIDFLOOOTHSHI 6157
a. FLLSHHIMB LOBEID CFWeTEsd SHiews el Guiwimer E)emnTdsh enev

b. GumpiLTeT yFThIGLD

C. FlemeowITen SIFFTHISLD

d. Qupburetenip &1 Fuller syt &
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